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AABC )

D D=DE=>F=G=H=I1=D
? AABC 18
AABC
A
D E
G H
B ¥ ’ >C
AABC DDE=>F=G=H=I1=D
ABCD M= E=G=H=F=M
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) AABC

AABC
(1), AB D
DE//BC/IGH;EF // AB//HI;FG// AC// DI; B/\/ \/\
.
DE+GH =BC (- DE=BF;GH =FC) (D

GF + DI = AC( -+ OF = AE:DI = EC) :
I +EF = AB( - Fl = AD;EF = DB) |

(ﬁ+@)+(@+ﬁ)+(m+§)=E+E+NB=AABC

AD
Lo (@) = Lynge 0(: ﬁ 1 )

L, (¢)=DE+EF +FG+GH +HI +1D; L,,,c = AB+BC+CA

AABC
1), A, (@) = ADEJ + AGKF + ALHI + AJKL
(19e© . Au@ ( MBC -1 )

- AD 2
- DE/BC. 22 _%_ AADE_ADEJ o~
AB 1 AABC AABC 1

) - AGKF _ALHI ADEJ a°

(- AADE = ADEJ ~AABC)

AGKF = ALHI = ADEJ ( SSS o = = =—
AABC AABC AABC 1

S ,
AJKL K™ (1-3a)
AABC AR’ 12

AJKL~AABC( AAA )

A, (&) = ADEJ + AGKF + ALHI + AJKL

2

2



AABC

Aoi(@)  Ar,i(a) _

ADEJ AGKF ALHI AJKL
AABC 1

=a’+a’+a’+(1-3a)’
AABC AABC AABC AABC

1., 1 IK 1
a)=12a% -6a+1=12(a — =)> + = =1-3x 0 a =
Ao (@) (-9 +5 :A(% 2
1

A
(2)a= ,  (AABC =1 ) D E
AD—)I( )=_ ( 2)
G H
1_ _1,111 )
3 9 9 9 3
LDﬁ,(%)=E+§+%+@+m+I - : > . c

(2)

oe (o,%)

Wl Wik
Wl

, (AABC =1 )

Ao, (%) — ADEF =1

D/\E
1, — — — 1
LD_)l(—)=DE+EF+FD=—LAABC
2 2
B
F C

(3)




(4) ac(.) . A@ ( aMBC -1 )
A, () = ADEJ + AGKF + ALHI + AJKL — 2AJKL A
( 4) ADEJ=AGKF = ALHI
- A, (@) =3ADEJ — 2AJKL
ADE] AADE AD E)Z _ y .
AABC AABC g’ AB y
EK=DG=1-20 JK=a-(1-2a)=3a-1 G t K H
. AKL _ (3z-1)° ADEJ 2
" ADEJ a’ ' AABC
. AJKL _ AKL ADEJ _ (30— 1)?
AABC ADEJ AABC - .
LA (@) =3a” -2x(Ba—1)? =-16a* +12a — 2
2, 2
a)=-15(a-=)*+=
Ao (@) ( 5) =
11 _ 2 2
ae(gla) ’ a= 5 AD—)I (0{) 5
L, (@) =DE+EF +FG+GH +HI +ID = L 5
3 AABC =1 )
“ aE(O,E) c{:E ae(iil) azl
3 3 3'2 2
Ao, (@) ) 1, 1 , 2 1, 1
a)=13a—)" +- —) == o)=—18a—) += ==
A, (@) =17 2 AH(S) 3 A, (a)=-15 2 g AM(Z) 7
1 2
AD»I :Z AD%I :g
Lo (@) Lo, (a) =L 1 Lo (@)=L 1, 1
o o e LDHI (é):LAABC o e LD%F (E):ELAABC

(4)



ABCD

M AD : ?
M AD * ME// AB, MF //DC, EG//CD, FH // BA
: GH //BC( < AG:GB=DH :HC) (5)
A M D
G ' H
B E F
(1) ABEM (5)

- AM // BE, AB// ME;.. AM = BE,AG = MI,GB = |
(2) DCFM

~- DM /ICF,DC// MF;.. DM =CF,DH = MJ,HC = JF

(GBI)MF,.. AIGE~AIIM ( AAA ) ~IG:IJ=1E:IM 1G=AM
L AM 1 =1E: IM
(HB)ME, . AJHF ~AJIM ( AAA ) . JH:JI =JF:IM JH =MD

< MD:Jl = JF:IM

(N ) AD . AM = MD—EAD .3 =(4)
IE:IM = JF : IM
MI = AG; JF = HC;MJ = DH

(169GB;




ABCD M,,,
M1/2 b

>

E F

( 1ANGE = AJHF(SSS ) (6)

2 1G = AM =§E; ﬁ:%:EAD ~1G=JH
GEFJ ; GE=JF( )

IEFH ; IE=HF( )
< AIGE=AJHF(SSS )
(2) Lo

E:a;ﬁzb;ﬁ_%:c;ﬁzd;%g:a 1

Ly, = ME+EG+GH + HF + FM = (ME + MF +GJ) + (EG + JH + HF)
= (ME+MF +EF)+(HC+FC+HF) = L,yer +Lyier

=c+d+(b—a)+(%a+%+ﬁ)=c+d+(b—%a)+%+e_s

“GH=BF=b-ta 2S_, 1 AG:GB=a:(l-a)
2 AB
_'.—H:axb+(l—a)><a:a+(b—a)a:b_la
a+(1l-a) 1 2
.'.(b—a)a:b—éa.'.a: 2b_3(3—1—1(1) '1—0521(1)

2 2(b-a) = 2'b-a 2'b-a



GB

'.'A=G=a 1. 2= =1-g..GB=(1-a)AB=
AB

AB
_HC _

1
S

SHC 4 HAC=@-a)DC=1(2 )xd
2 b-a

'DC

I-M1/2 = LAMEF + LHCF = [C+d +(b_a)]+{

1

2 2 b-a

1

a

)xC

b-—a

a 1 a
(—)C+§(E)d}

:c+d+b—1a+£a(c+d):a+b+c+d+é[c+d— j
2 2 b-a 2\b-a
_(a+b+crd)+ 29 g
2 b-a
(3) A
ABCD =1 ; ABCD n
(a+b)h=1:>h= 2 a:2b—3a:1_1( a ) 1_0(:1( a )
2 (a+b) 2(b-a) 2'b-a 2 b-a
AlGE:AJHF:Ex(l_—“)thExF( a ):lx 2 1
271 2 27 |2b-a’| (a+b) 2
1, a’
~ AIGE = AJHF == (—=—
4(b2—a2)
AIIM ~AIGE(AAA ) - AIIM : AIGE = 2 : (1- @)
1, a.]
2 2 1_7(7) 2
AAIM =% G AIGE= (% ki (A yo| 2b-ar) Lo
1-a) 1-a° 4'b°-a }( a ) 4°b*-a
2'b-a
2
CAIM 2 L, (20-3)°
4 b*-a’
Ay, = AIGE + AJHF + AIIM
1 @ )+1 a’® )+1X(2b—3a)2
4°b*-a*" 4'b*-a® 4 b*-a’°
2 2
zlxllalzzabt4b (2ot 1)
4 b°—a b
1 11t%-12t+4
AMl/z(t):ZX(T)



Ayt =k; ke R

1 11t>-12t+4
. —X(—

"2 10 )=k 11t% —12t + 4 = 4k — 4kt?

= (11+ 4K)t2 —12t + (4— 4k) =0 keR

D = (=12)2 — 4(11+ 4K) x (4—4K) > 0

L 9-(1-K)x(11+4k) >0 = 4k* +7k—2>0

.-.(4k—1)x(k+2)zo.-.kz% k<-2( )
1
AMl/Z(t):k Z
2_
.'.lx(w)zlalﬂz—12t+4=1—t2
4 1-t 4
S 12t 12t +3=0< 4t° -4t +1=0
1
L(2-1)%2=0.t==
(2t-1) >
a 1 _ 1
t:B:Eszza, A‘Ml/z Z



3 . ABCD M.,

A M1/4 MY2 N D
I I 12 ) J
H3 H1 H
(7)
( 1) I‘M1/4
E:aﬁzbﬁa:cﬁ:d;’:\:ﬁ:a 1

Lyiya = M1,4E+W+ M1,4L+W+E+m+ﬁ+i+@+ﬁ

M,,E=NK=AB=c M,,L=NF=CD=d
GH=BF=b-1a;1J=BL=b-"a
4 4
— = 1 3
.'.LM1,4:c+c+d+d+GE+IK+HF+JL+(b—Za)+(b—Za)

=20+2d+2b—a+(@+m)+(ﬁ+1)

3a

Z:l:BaR:ﬁ:Wﬂ@

ABGE~ABIK : BE:BK =%:

ACHF ~ACJL ;E:ﬁ:i%:l:saiﬂﬁ:@:zﬁ

.- AEPK ~AEM,,,L; EK EL=2:(b-a)=PK:d > PK =29 _ — GE-_
2 2(b-a) 4(b-a)

-_— — a - - ac —_— ac
- AFQL~AFNK ; FL:FK =2:(b-a)=QL:c < QL = — HF =
Q o P-a=Q Q 2(b—a) Ab- a)

Ly =2C+2d +2b—a+4x ad +ax—% :2(C+d)+(2b—a)+—(c+d)a
4(b-a) 4(b-a) b—a



L, —2c+2d+2b—a+29 4+ 8 oy 2d+4 2+ (2 )a+c+d—b)
1 b-a b-a b-a
(2) Avrra
ABCD =1 ; (8)

M1/4

VNN

/\/\/ G/ \ \/\/\
YAVANVAN NN

B

E Y1 K L Y2 F
I2J2=0<:>b—%a=0:.b=%a (8) (9)
A U D
B E K L F =
(9)
ARI,J, R

" Auys = (AGEG, + AG, PG, + AG,KG; + AlPI,) + (AM,RN + AG;RH ; + ARJ;N)
+(AHFH, + AH,QH, + AH,LH, + AJQJ,)

AGEG, = AG,PG, = AG,KG; = AIPI, = AHFH, = AH,QH, = AH,LH, = AJQJ,
(8), AGEG, + AG,PG, + AG,KG, +AIPI, = AX,Y,Z,

AHFH, + AH,QH, + AH,LH; + AJQJ, = AX,Y,Z,

10



a’ a?

% AXY,Z, =—
4(b? - a?) 27272 Ab? -a?)

2

AM 1/2 ) AXllel =

_a
A(b? - a?)

2

AGEG, + AG,PG, + AG,KG, + AlIPI, =

a

AHFH, + AH,QH, + AH,LH, +AIQJ, =7

I,R=J,R=G,H, :% . AM,,,RN = AG,RH, = ARJ,N(ASA )

2

a
AMUZRN = AG3RH3 = AR\]lN :m
9 5a2 532 53> 4
b:—a e — = = = —
4 Auura 4(b? —a?) Ausrs 8L ,, .| 65a° 13
(—=a“)-a
16 4
13,500 b-2a>0ob>lac @) 2 (22 4
4 4 b 9 b 9
(8)

- A, = (AGEG, + AG,PG, + AG,KG, + AIPI,) + (AHFH, + AH,QH, + AH,LH, + AJQJ,)
+(AI,M,,J, +AlL,NJ, + AG,RH,) — 2Al ,RJ,

AGEG, = AG, PG, = AG,KG; = AIPI, = AHFH, = AH,QH, = AH,LH, = AJQJ,
AGEG, + AG, PG, + AG,KG;, +AIPI, = AX,Y,Z,

AHFH, + AH,QH, + AH,LH; + AJQJ, = AX,Y,Z,

2

a
AGEG, + AG,PG, + AG,KG, + AlIPI, = m
a-2
AHFH, + AH,QH, + AH,LH, + AJQJ, = —4(b2 —a?)
a2
AIll\/ll/4‘]2 = Al ZNJl = AGSRHS(ASA ) AXlYlZl - m

AG,RH,~AI,R], ~AX,Y,Z,

2

AG,RH,: Al,R),: AX,Y,Z,=G,H, :1,3, :X,Z,

11



Awa®=2——2— A=k

-7

t2—§t+1 - 3
16 2 g —k —t2 - Zt+1=k—kt?
1-t 16 2

= —T7t? — 24t +16 = 16k —16kt* = (16k — 7)t* — 24t +16(1- k) =0
“teR D =(-24)" —4x (16k — 7) x16(1-k) > 0

= 9> (1-K) x (16k — 7) = 16k”* — 23k +16 > 0

(—23)2—4><16><16=—495 0; k? 16 O
16k? — 23k +16 , Kk

4 167t2_2t+1
t 5 AMl/4(t): 1—t2

12



(10)

(10)

- A, = (AGEG, + AG,PG, + AG,KG, + AIPI,) + (AHFH, + AH,QH, + AH,LH, + AJQJ,)

+(AI,M,,,, + Al NJ, + AG,RH,) + Al ,RJ,

AGEG, = AG, PG, = AG,KG; = AIPI, = AHFH, = AH,QH, = AH,LH, = AJQJ,

AGEG, + AG,PG, + AG,KG, + AIPI, = AX,Y,Z,

AHFH, + AH,QH, + AH,LH; + AJQJ, = AX,Y,Z,

2

a
AGEG, + AG, PG, + AG,KG;, +AIPI, = m
a2
AHFH, + AH.QH, + AH,LH, +AIQJ, =

AILM,,J, = AlLNJ, = AG,RH,(ASA ) AX,Y,Z, =

AG,RH,~AI,R], ~AX,Y,Z,

13
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(b—Za)z Ca-by
AGRH =~ = ALR), =~
2
° (b—Za)Z Ca-b)
-'-A1V|1/4:2><b2_a2"'3>< b2 _ a2 b2 — a2
irgaz—15ab+4b2
; Al\/lll4: bz_az
. 2-¢ ¢ 2
b 9
?t2—15t+4
A1\/11/4(t):T A1V|1/4(t):k

57?t2—15t+4=k—kt2

= 59t? — 60t +16 = 4k — 4kt* = (59+ 4k)t*> — 60t + 4(4—Kk) =0
“teR D = (-60)” —4x (59 + 4k) x 4(4—Kk) > 0
= 225> (4—K) x (59 + 4k) = 4k* + 43k 11> 0

(k+11)><(4k—1)zo.~.kz%1

5—gtz —15t+4 1

4 2 2
t)="—— == < 50°-60t+16=1-t
A\/Il/4() 1—t2 4
= 60t” —60t +15=0=4t* -4t +1=0= (2 -1)* =0
1 4 1

-'-tZE 3 » A 2

14



4 . ABCD M_

( 1 ) I_M1/2n

1/2"

( 1 BD)=2a;BC=b; AM :2—1na vn>2neN

L =M. E+NK+M. _L+NF+GE+IK+HF+JL+GH +1

M1/2" 172" 172"

E=-NK=AB=c M. _L=NF=CD=d

172" 172"

M
GH-BF =b-—a:1J=BL=b-(a-—a)-b-a+—a
2" 2" 2"
= T 1 3
.'.LM1,4=c+c+d+d+GE+IK+HF+JL+(b—Za)+(b—Za)

=20+2d+2b—a+(@+m)+(ﬁ+1)

15



SHFHI & HF 0 =CF (CL=a:(a- -2 =1:(2' -]
HF=x, JL=(2"-1x=QL=(2"-2)x

@//W@@:W:ﬁ:ﬂa(z”—2)x:c:(a—2—2na):(b—a)

:>X:ix ac :>_F=ix£;12(2”—1)xix ac

2" b-a 2" b-a 2" b-a
F+dl=2"x=—>
b-a

-.-@//RQE:R=E:W=2—1”&(a—2—1na)=1:(2”—1)

GE=y, IK=(2"-1)y=PK=(2"-2)y

PK//IM. L PK:M

1/2" 12"

L=§:E<:>(2”—2)y:d=(a—2—2na):(b—a)

_ 1, :>_E=ix£;m=(2”—l)xix ad
2" b-a 2" b-a 2" b-a

Ly :2c+2d+2b—a+(ﬁ+m)+(ﬁ+1)

1/2"

_2c+2d+20-a+-29 1+ % _oci2d+2b+ (— )@+ c+d—b)
b-a b-a b-a

Ly (n>2 )

1/2"

16



(2) A,

G,G, = I1:HH1:H2H3:J_J1:2%

[EEY
[EEY
)

O
Il

GG,=HH,=a-—a I,1,=3J,=G,H, :{(b—Za)JrZ%} l,J, =3(a—2—6:1)—b

AMIZN = (AGEG, + AG,KG; + AIPI, + AHFH, + AH,LH ; + AJQJ,) + (APG,G, + AQH,H )

+(AIM i1, +AJ,NJ, + AG,RH,;) + AlLRJ,
AGEG, = AG,KG, = AIPI, = AHFH, = AH,LH, =AJQJ,( AS A )
APGG,=AQHH,( ASA AN .1,2Al,NJ, =AG,RH,( AS A )

AGEG,~APG,G, ~ARG,H,~ARI,J,~AX,Y,Z,

2
)’ () [(a—zﬂ
AX,Y,Z, = b22_ = AGEG, = —2 = APGG, =
2 2
{(b _2a)+ 2‘5‘} [S(a— ;) - b}
ARG,H, =t AR, ==

1 a 36. a 2 a 2
A, Zm{ﬁx(z—n)z +2(a—2—n)2 +3{(b—2a)+2_n} +{3(a_2_n)_b} }

A b? A _tx =—
b

M
172N

Au ()=

) o [36t2xn2—(42t2—12t)xn+(15t2—10t+2)]

1 7Tt-2., 11t -12t+4
A t) = 36t%(x, - 2
yon (1 1—t2{ G g )7 4 }

w =2 p o Ut?-12t+ 4

"ot M e
(11+ 4K)t% —12t + 4(1-k) =0, D>0=4k®+7k-2>0

2
— (k+2)(4k-D > 0= k> + (o WtP-12ted 1 a1 o
4 4 — 4t? 4 b 2

; nzﬂzi:i:13n=2 b=2a;n=4 M(la) 1

6 4 2" 4 n 4

17



ava
P7 C1 Bl P10
\ (12)/

(1) Ls ( a); N=357,.....
® (12) AD-aBC=b; AB-cDC-dAP-2a 22_DR_, 4
n AB DC
AG,P,P, = AG,G,P, = AG,G,P,, = AP,G,P, = AF,R,E, = AR,F,E,(SAS )
AE GG, = AE,G,G,(SAS ) ARFF, 2ARF,F, = AE,G,G,(SAS )
PP, =xPP,=yPP,=zPP=w DC,=PP,=PP,=AB=c
2 —_— 1 —_— 1
PlP6=(1—E)a=PlOP5:>P7PlO=b—2a(1—ﬁ):>DDl=b—a—ﬁa
C_P4:C_I35:>1—a: (ma _1-a_(Una
P,D DD, a b-a-(1/n)a 1 b-a
P4P5//DC1:>§=1_0(:(1/n)a:>x= ac ’y:(n—l)ac..‘Xer: ac
c 1 b-a n(b-a) n(b-a) (b—a)
Pnglerl:E:L_a:m:Z:i ,W:M.-‘Z+W: ad
d 1 b-a n(b—a) n(b-a) (b—a)
@-: PP, /PP, I AD/IBC - PP, + PP, = L= “)1a+“b (”_1)(1_“)a+[i_(”_l)(l_“)]b
2 a a’ —3ab+ 2b®
~RP,+PP =n(l-a)a+|2-n(l-a)b= +(2- b= =2b-a
3 T Fghy (1-a) [ ( 0‘)] b_a ( b—a) b_a
ac ad
@ Ly (—a) 20+2d+b—+b— +2b-a= 20+2d+2b+(—)(a+c+d b)
a a

18



(2) A (Ta)

w
(12) AP1=DP6:GlP3=GZG3=G4GS=P4G6=F1P8=|:4p9=%
ABCD 1 , h: @b 2
a+b
DA6RR. = (X = G

a.2

_a2

a 3a n-23)2
@ AGG,E, ~AGP,P, . GR:GG, =():(a-"")=1:(1-3) . AGPP, = ( n2) (-

)

@ AG,E,G, ~ AG,P,P, .G, 15,6, =(%):(b-2a+ D=1+ n(2-2)
n n a

[1+ n(z - 2)} o
> (

“AGEG == o

)

3
n

@ AF,E,F, ~ AG,P,P, .G,P,: F,F, = (3): (3a-
n

[— 3+n(3- b)} o
22

n? b? — a2

b)= -3+ n(3-2)
a

- AF,F,E, =

e s [T IR }
in b —a® [n n a n a n

t=2
a

Aata= 80 B d o] oo -2 }
t°=1ln n n n

AF’ln

A Gay= |

1 [§+12t—42
AR n t>-1| n n

+(4t7 —18t + 23)}

1
t? -1

A (%,8) = 5 [36x,2 + (12t - 42)x, + (4t° ~18t + 23)|

36 7-2t., 12t%—44t+43
A_(xa) = X, — +
APl( @) t2—1( "o12 ) 42 -4

7-2t 1 12t% — 44t + 43
Xx =—— A_(—a X
12 AP1(n ) 42 -4

19



12t2 — 44t + 43

5 keR
4t° -4

— (12— 4K)t* — 44t + (43+ 4Kk) =0t e R

D = 447 — 4(12 - 4k)(43+ 4K) > 0

AKk? +31k 8> 0> (k+8)(4k 1) = 0= k < —8( ) kz%
2_
’ 1omsmes 1,
4 a’-a 4
=P _opopa x o toT2_ L 7m2x2 1,
n 12 n 12 4

1
4

20



ABCD ( )
, ABCD

Lz iy-b=mx< y=mx+b; L :y=m,(X—-a) < y=mx—am,

(13)
vl .
B(0,b]
Hs
T T T _:5 T T T D(O, ))

( 18(k0) = F(k,y)(~~EFNY )

F(k,y) Lz y=mXx+b y=mk+b = F(k,mk+Db)
( 2 F(k,mk+b)= G(x,mk+b)(--FG//X )

G(x,mk +Db) L :y=my(x-a) mk+b=m,(x-a)

_ mk+m,a+Db . G(mlk+m2a+b
m2 m2

= X ,mKk+Db)

(3 D(W,mlkjtb) — H(0,y)( " GH // BC)

2

mk+m,a+b

x=0 Ly Y- (mKk+Db)=m(x- )
2
y= m(_w)+(mk+b) — ml(mz _ml) K+ (mzr; ml)b—mla
2 2 2

21



(4 )—I(O,ml(mr;_ml)k+(mz_ml)b—mla): E(k,0) (-~ HE// AC)

2 2

m, — m, —
Lay_(nl( 2 rrll)k+( 2 ml)b—nya):mzx

y=0
2 2
ma+ (nl_mz)b_l_ rTH(rn’l_mz)k:mzx
m, m,
K = x = Muimpa+ (m —m,)b+(m —m,)mk
2
m,

s my k= mmya+ (M, - m,)b+ (m, —m,)mk

_mm,a+(m -m,)b
mz2 +mm, — ml2

_ mma+(m —m,)b

smmea+(m —m)b=k(m? +mm, —m?) .. k

( 5) X ' 0 2 > a
m, +mm, -m,
m
T, =m’+mm,—m* 20 tZEZ
m,* +mm, —m?* =0 m?
(C2yz (My 12062 +t-120, ti_li\/g—)(&)i_li\/g
won 2 m, 2

@ T,=m’+mm,—m>> Ot;%e(—w,_l;\/g

)

= MMM D 4 o mmar (m-mb  am? + mma-an’
m,* +mym, —m,

=-(m,-m)b am?-m?) = —(m,-m)b a(m, —m)(m, +m,)
(13)m=#m m O;m O=>m-m O mm O

b
b a(m2+ml):>—(5) m+m=m. m_+mg

(_ mma-+(m —m,)b

0 5 > =mma+(m-m)b O=mma (m,-m)b
m, +mm, —m,
1 1 1 1 1
Sl | —- _ =
mm, a ( mz) Qb/a mm,
1 1 1 1 1 1
oS — —+( ) & +
m, m -b/a m- Mg Mg

22



m, ,—1-5
@ T,=m’+mm,-m’< Ot’:aze( 2

,0)

K = mm,a+(m, —m,)b

b < <
a == () <M, + M = Mg <My + Mg,

m,” +mm, -m’
0 k:mlrrlza"'(ml_mzzb :i>i+( 1 ) o 1 > 1 . 1
m, +mm, -m m m —-b/a m- mg mc
(6) ABCD E(k,0)

O  kmma+(m-m)b
m,” +mm, - m’
(&)aJr(l—@)£
m, m’ m

_tar@-tb, _a-b @b, Mg, b

t?+t-1 t—@/t)+1 m, T m,

(Meyzy (Tey_q
m, m,

B3, =y, BC-x, A =¥s AC=x m=2> 0 m, ==F<0

2

a=X+X%, b=y,-y

T
-1C
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(a) ACBC Y x=a RQ :
(b) C AD Y x=a B,A
A XYr .55 XY
Q= ,B,R=
A X X,
(c)AR, QR A0-AQ-"BR-BR -V
1 2
(d) x=a Q.Q  AQ,=1LAQ,=b;  AQ
A Q.Q, Q.Q; QQ --21,Q,Q, =Ny
XY, XY,
(e)AD I Al =AQ, =b,; Ql, Q Q!
AD J; 13=Q,Q,=(-1/t)b; DJ=a-b, +(1/t)b,
(f) Y BR, = ﬁy R, ﬁ
—_Xiyz_ DR g ._pbo - ~ _
R3—W——t, PD S =R,R;; DL =1— (-t) + (-1/1)
2J1
(g) b, J LD, Y K
-+ ALDD, ~AJDK . LD: DD, = DJ : DK
=1+t—(1/t):1=a—b_+(1/t)b : DK
_ B @b+ @b,
1+t-1/t
( h) D , DK , AD E , E(k0)
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ABCD ( )
: ACED (15)

A@0) B(b,b,) Lg:y=mx; Lgiy=m(x=b)+b, L :y=my(x-2a)

E(k0) X ke (0,a)
4+ E G
B(b1l
24 |
_H
Il Il Il Il IX Il
T T T T .I5 T T T T B YE(kloj : T A(ayol) T

( 1B(k0)=F(xy)(~EF/BD). . m.=m

{y=ml(x—k) oL, L. F(Kombeb, mm(Kk-b)emb,
y:mz(x—b1)+b2 m —-m, m —-m,

( 2 p(mk=meb b, mmk=b)rmb, 5 Mmp(k=by)+mp,,
m —-m, , m —-m, ’ m -m,
oMMy (k=b)+mb, . mm,(k=b)+mb,,

L:y= -a).
o Y=mx-®) m,(m, —m,) m —-m,
( 3@( n‘llmr;iizn;bi)r: ;nlbz +a, rnlmz (;E__bln?];_ rnle) — H (X, y)

= GH/IBC .. m =m,

25



y:m{x_(mmz(k—bl)mbz +a)} mm,(k-by) + mb,
m,(m, —m,) (m —m,) < Ly Lp; H
y=mx
_ my(m, - m,)[m, (k- by) + b, |- am,my(m, - m,)
m, (m, —m)°®

(4 H(x.mX,) = E(kO)( - EH//AC) -.m =m,

H (X5, M%) Xo

y= ms[x_ Xo]+ m, X,
{ < Lo X E (k,0)

y=0

_ ml(m3 - mz)(ml - ma)(bz - m2bl) + amzms(ml B mz)(ma - ml)
mlmz(ms - mz)(ma - ml) - m32(m1 - m2)2

Kk

(5) k , T

m

T, =mm,(m; —m,)(m; —m,) - msz(ml - m2)2 #0

T, D T = 3mm,my* —m*mm, —mm,*m, + (m’m,* —m,’m,” —m,’m?)
- (mlmzms){(mfnz - m21m3 - mllma )+ (mtz - mll - mlzz)}
=(mlm2m3)2:(mllm2—mzlma—ml%w(mtz)—(mlf _minz +m122)}
P I S T WA SR S S

m,m, mzma_mlma m, m m,

1.1 1 1.1 1 1 1.,)]
=(mlmzmg){—<———)+—(———)—(———)2
m2 ml m3 m3 m3 ml ml m2 n
1 1 1 1 1 1
= (m1m2m3)2|:(__ )% (— - )—(———)2}
ml m3 m2 m3 ml m2
To20; (o ) x () % (o )
ml m3 m2 m3 ml m2
1 1 1 1 1 1
" ( - ) % ( - ) # ( - )?
Mgy Mk Mg My s Mg
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2 1 1 1 1 1 1.,
) T, = (mlmzms) [(__ ) < ( - ) - (——-—) }> 0
m, m; m, m, m, m,
1 1 1 1 1 1.,
T.> 8 (— ) x(—-—)>(—-—)
m, Mg m, m; m, m,
(a) k<a ( b,=b,-mpb)

m, (m; —m,)(m, — m,)(b, —m,b,) + am,m,(m, —m,)(m, —m;)<axT_
= m(m, —m,)(m, —my)xb,  axm(m;—m,)(2m,m, —mm, —mm;)

= m (m, —mg)(m, —my)x(=b,)  axm(m, -my)(mm, +mm, —2m,m,)

, (1m)O0Om Om O, BC Y
P(0,b, ~-m,b)=P(0b)) m_ = _:y

m, (m, —my) (m —my)x(=b)) axm(m,+m)

-b -2 M—M— + M—M-— — 2M—M-—
= ( y) rn.’l.m2 + rnlrnS m2rn3 = m— BD BC BD AC BC AC

AP
m, —m, Mgs — M

(b) Q (T,>0)
=0 ‘ml(ms_mz)(rm_ms)by+am2m3(m1_m2)(m3_m1)

=0 ¢m, - my)|m,(m, - m,)b, +am,m,;(m, -m,)|  (m-m) O

= m,(m; —m,)(-b,) <am,my(m, —m,) ; (m;-m,)< 0
:_by mm(m,-m) Mge Mee (Mge — Mg5)
a  m(m—m,) T Mg (M — M)
ctm d AP
Mgs (Mg — Mee) M — Mae
m AP
Mes — Mz Mg (Mg — Mee)
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AABC

D=DDE=>F=G=>H=I1=D

AD

AABC L a)=L o =—
D—l ( ) AABC( AB )
(5) . NABC =1 )
5
( ) aE(O,E) a:} ae(lil) a=1
a 3 3 32 2
A, (@) , 1 1, 1 , 2 1, 1
=12a—>)% += Z)== =15a-5)+2 Sy==
A, (@)=12c £ "2 A (3) 3 AL@ fa 5 g A e ( 2) 4
1 2
AD_)I =Z AD—)I =g
L L =L L =L
o1 (@) Lo, (@) AABC L, (}) ~Lya o (@) AABC L, . (E) zl Loac
3 2 2
ABCD M=E=G=H=F=M
(6) ( ABCD =1
1 1 1
AM 1" Ea Za 2r| —a
L] abead®9g 2b+2c+2d+—2 (a+c+d—b)
( 2b-a b-a
N r<? — >3 |2l —
b 2 9 9 9 2 2
n=2 n=4
A(t) A) 1 A(t) A(t) A(t) A(t) A(t)
4 4 1 1 1
13 4 4 4
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ABCD ( )
M —1-45 1 1 1
1 tzi —00, ,
()= .

m-  _1_

(2)i-Tm A0y Mg<m +my >
M 2 me mg mg
ABCD ( )

1 1 1 1 1 1

(G—- ) < ( - ) = ( - )?

My My My Mg Mgy Mg
1 1 1 1 1 1

(1l)(=—-)x(—-)>(—-2)°

m, m, m, m, m, m,

. %%(%—%)< B Map Mag + Mgg Mz — 2Mge M

Mgs (M — Mge) o Mgy — Mie
1 1 1 1 1 1
(2)—-)x(=—-)<(=—-2)°

ml m3 m2 m3 ml m2

mBT).mE+m@mE—2m§mE B %%(%—%)
M5 — M * Mg (M —Mge)

ABCD K (k,,0) , Excel

E=F=G=H = E(/0)

( 1) . k:mlmza"‘(ml_mz)b
m,” +mm, -m’
(2) 2 Mu(m; —my)(m, - m;)(b, —myby) +am,m,(m —m,)(m, -m)

mym, (m, —m,)(m; —m) —m,*(m, —m,)?
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